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10.10 Taylor Series Practice 2 
Warm-Up:  
The function f satisfies the equation 𝑓" 𝑥 = 𝑓 𝑥 + 2𝑥 − 3 and f(0)=3. The Taylor series for f 
converges to f(x) for all x. Find f ''(0) and find the second-degree Taylor polynomial 
for f about x = 0. 
 
 
 
 
 
 
 
 
 
For the following problems, I encourage you to try them on your own and then play the video to 
see how I do it. Taking the leap on your own can get you more comfortable with these problems 
over time. 
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Homework 
Please complete the two FRQs below without notes. Then use the videos I will post and the 
scoring rubrics to make corrections in a different color and grade yourself. Then fill out the 
Score Report form that will be online and email me pictures of your work! 
 
Lookout for Taylor series questions mixed in with other concepts like in 2012 #4 below! 
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